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F. Finding Points
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int N;

Point ppx[1107;

int main
scanf("%d",&C.n);
N=C.n;

int 1=0;i<C.n;i++
ppx[1il.input();
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ppx[C.nl=ppx[0O];
double 1=eps,r=2.0*acos(-1)/N;
r-1-1le-15
double mid=(1l+r)/2;
int i=0;i<C.n;i++
C.cli].r=(ppx[i].distance(ppx[i+1l])/2/sin(mid));
double dtmp=C.c[i].r*cos(mid);
Point ptmp=(ppx|i/+ppx[i+l])/2;
Point pptmp=(ppx[i]|-ptmp);
pptmp=pptmp.rotright();
pptmp=pptmp.trunc(dtmp);
ptmp=ptmp+pptmp;
C.cli].p=ptmp;

C.getareal();
C.ans[C.nl>1e-20)1l=mid;
r=mid;

printf("%.201f\n",1*180/pi);

.
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G. Greater Integer, Better LCM

gd
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#include <bits/stdc++.h>
using namespace std;
#define 11  int128

inline void scan(1l &X
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X =0;
int w=0;
char ch=0;
lisdigit(ch
w|=ch=="-";
ch=getchar();

isdigit(ch)) X=(X<<3)+(X<<l)+(ch® ,ch=getchar

w) X = -X;

void print(1l x

Ix ;
X < putchar('-"'),x = -x;
print(x / ;
putchar(x % + '0');
1l n,p ,q ,a,b;

1l dp ;
vector<pair<ll,int> > d;

void dfs(1l pos,1ll value,int con
pos==n
d.push back(make pair(value,con));
value>=b) dplcon|=value-b;

1

int i=0;i<=q[pos];i++
dfs(pos+1,value, (i==ql[pos|)?(con| (1l<<pos
value=value*p|pos|;

int main

memset (dp,0x3f3f3f3f,sizeof(dp));
scan(n);

int i=0;i<n;i++) scan(p/i]),scan(qgli]);
scan(a);
scan(b);
dfs(0,1,0);

int i=0;i<n;i++

int j=0;j<(1l<<n);j++
Hj&(1<<i dpljl=min(dp[j!,dplj+

11 ans=1e36;
int i=0;i<d.size();i++
pair<ll,int> x=d[1i];
x.first>=a) ans=min(ans,x.first-a+dp

ans) print(ans);

.con);

<<i

<<n) -

.
’

-X.second

’
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puts("0");
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